



CONVERGENCE FOR NEARLY ASYMPTOTICALLY NONEXPANSIVE MAPPINGS BY THREE-STEP ITERATIONS

G. S. Saluja

Department of Mathematics, Govt. Nagarjuna P.G. College of Science
Raipur - 492010 (C.G.), India
e-mail: saluja1963@gmail.com

Abstract. In this paper, we establish some strong convergence results and a weak convergence result for nearly asymptotically nonexpansive mappings under suitable conditions in the setting of Banach spaces.

1. INTRODUCTION

Let E be a real Banach space and C be a nonempty subset of E . Let $T: C \rightarrow C$ be a mapping, then we denote the set of all fixed points of T by $F(T)$. A self mapping $T: C \rightarrow C$ is said to be Lipschitzian if for each $n \in \mathbb{N}$, there exists a positive number k_n such that

$$\|T^n x - T^n y\| \leq k_n \|x - y\|$$

for all $x, y \in C$.

A Lipschitzian mapping T is said to be uniformly k -Lipschitzian if $k_n = k$ for all $n \in \mathbb{N}$ and asymptotically nonexpansive [4] if $k_n \geq 1$ for all $n \in \mathbb{N}$ with $\lim_{n \rightarrow \infty} k_n = 1$.

It is easy to observe that every nonexpansive mapping T (i.e., $\|Tx - Ty\| \leq \|x - y\|$ for all $x, y \in C$) is asymptotically nonexpansive with constant sequence $\{1\}$ and every asymptotically nonexpansive mapping is uniformly k -Lipschitzian with $k = \sup_{n \in \mathbb{N}} \{k_n\}$.

⁰Received June 28, 2014. Revised November 14, 2014.

⁰2010 Mathematics Subject Classification: 47H09, 47H10, 47J25.

⁰Keywords: Nearly asymptotically nonexpansive mapping, three-step iteration process, fixed point, strong convergence, weak convergence, Banach space.

Fix a sequence $\{a_n\} \subset [0, \infty)$ with $\lim_{n \rightarrow \infty} a_n = 0$, then according to Agarwal et al. [1], T is said to be nearly Lipschitzian with respect to $\{a_n\}$ if for each $n \in \mathbb{N}$, there exist constants $k_n \geq 0$ such that $\|T^n x - T^n y\| \leq k_n(\|x - y\| + a_n)$ for all $x, y \in C$. The infimum of constants k_n for which the above inequality holds is denoted by $\eta(T^n)$ and is called nearly Lipschitz constant.

A nearly Lipschitzian mapping T with sequence $\{a_n, \eta(T^n)\}$ is said to be nearly asymptotically nonexpansive if $\eta(T^n) \geq 1$ for all $n \in \mathbb{N}$ and $\lim_{n \rightarrow \infty} \eta(T^n) = 1$ and nearly uniformly k -Lipschitzian if $\eta(T^n) \leq k$ for all $n \in \mathbb{N}$.

In 2007, Agarwal et al. [1] introduced the following iteration process:

$$\begin{aligned} x_1 &= x \in C, \\ x_{n+1} &= (1 - \alpha_n)T^n x_n + \alpha_n T^n y_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n, \quad n \geq 1 \end{aligned} \quad (1.1)$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are sequences in $(0, 1)$. They showed that this process converge at a rate same as that of Picard iteration and faster than Mann for contractions and also they established some weak convergence theorems using suitable conditions in the framework of uniformly convex Banach space.

Recently, Khan et al. [6] studied the modified two-step iteration process for two mappings as follows:

$$\begin{aligned} x_1 &= x \in C, \\ x_{n+1} &= (1 - \alpha_n)T^n x_n + \alpha_n S^n y_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n x_n, \quad n \geq 1 \end{aligned} \quad (1.2)$$

where $\{\alpha_n\}$ and $\{\beta_n\}$ are sequences in $(0, 1)$. They established weak and strong convergence theorems in the setting of real Banach spaces.

Inspired and motivated by [1, 6] and some others, in this paper we introduce the following three-step iteration scheme as follows:

$$\begin{aligned} x_1 &= x \in C, \\ x_{n+1} &= (1 - \alpha_n)T^n x_n + \alpha_n T^n y_n, \\ y_n &= (1 - \beta_n)x_n + \beta_n T^n z_n, \\ z_n &= (1 - \gamma_n)x_n + \gamma_n T^n x_n, \quad n \geq 1 \end{aligned} \quad (1.3)$$

where $\{\alpha_n\}$, $\{\beta_n\}$ and $\{\gamma_n\}$ are sequences in $(0, 1)$.

If we put $\gamma_n = 0$ for all $n \geq 1$, then scheme (1.3) reduces to the scheme (1.1) and if we put $S = T$, then scheme (1.2) also reduces to the scheme (1.1).

The three-step iterative approximation problems were studied extensively by Noor [7, 8], Glowinsky and Le Tallec [3] and Haubruge et al [5]. It has been shown [3] that three step iterative scheme gives better numerical results

than the two step and one step approximate iterations. Thus we conclude that three step scheme plays an important and significant role in solving various problems, which arise in pure and applied sciences.

The aim of this paper is to establish some strong convergence theorems and a weak convergence theorem of newly proposed iteration scheme (1.3) for nearly asymptotically nonexpansive mapping in the framework of real Banach spaces.

2. PRELIMINARIES

For the sake of convenience, we restate the following concepts.

A mapping $T: C \rightarrow C$ is said to be demiclosed at zero, if for any sequence $\{x_n\}$ in C , the condition x_n converges weakly to $x \in C$ and Tx_n converges strongly to 0 imply $Tx = 0$.

A mapping $T: C \rightarrow C$ is said to be semi-compact [2] if for any bounded sequence $\{x_n\}$ in C such that $\|x_n - Tx_n\| \rightarrow 0$ as $n \rightarrow \infty$, then there exists a subsequence $\{x_{n_k}\} \subset \{x_n\}$ such that $x_{n_k} \rightarrow x^* \in C$ strongly.

We say that a Banach space E satisfies the *Opial's condition* [9] if for each sequence $\{x_n\}$ in E weakly convergent to a point x and for all $y \neq x$

$$\liminf_{n \rightarrow \infty} \|x_n - x\| < \liminf_{n \rightarrow \infty} \|x_n - y\|.$$

The examples of Banach spaces which satisfy the Opial's condition are Hilbert spaces and all $L^p[0, 2\pi]$ with $1 < p \neq 2$ fail to satisfy Opial's condition [9].

Now, we state the following useful lemma to prove our main results.

Lemma 2.1. ([14]) *Let $\{\alpha_n\}_{n=1}^{\infty}$, $\{\beta_n\}_{n=1}^{\infty}$ and $\{r_n\}_{n=1}^{\infty}$ be sequences of non-negative numbers satisfying the inequality*

$$\alpha_{n+1} \leq (1 + \beta_n)\alpha_n + r_n, \quad \forall n \geq 1.$$

If $\sum_{n=1}^{\infty} \beta_n < \infty$ and $\sum_{n=1}^{\infty} r_n < \infty$, then $\lim_{n \rightarrow \infty} \alpha_n$ exists.

3. MAIN RESULTS

In this section, we prove some strong convergence theorems and a weak convergence theorem for nearly asymptotically nonexpansive mapping in the framework of real Banach space.

Theorem 3.1. *Let E be a real Banach space and C be a nonempty closed convex subset of E . Let $T: C \rightarrow C$ be a nearly asymptotically nonexpansive*

mapping with sequence $\{a_n, \eta(T^n)\}$ and $F(T) \neq \emptyset$ such that $\sum_{n=1}^{\infty} a_n < \infty$ and $\sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty$. Let $\{x_n\}$ be the three-step iteration defined by (1.3). Then $\{x_n\}$ converges strongly to a fixed point of the mapping T if and only if $\liminf_{n \rightarrow \infty} d(x_n, F(T)) = 0$.

Proof. The necessity is obvious. Thus we only prove the sufficiency. Let $q \in F(T)$. For the sake of convenience, set

$$B_n x = (1 - \gamma_n)x + \gamma_n T^n x,$$

$$A_n x = (1 - \beta_n)x + \beta_n T^n B_n x$$

and

$$W_n x = (1 - \alpha_n)T^n x + \alpha_n T^n A_n x.$$

Then $z_n = B_n x_n$, $y_n = A_n x_n$ and $x_{n+1} = W_n x_n$. Moreover, it is clear that q is a fixed point of W_n for all n . Let $\eta = \sup_{n \in \mathbb{N}} \eta(T^n)$. Consider

$$\begin{aligned} \|B_n x - B_n y\| &= \|((1 - \gamma_n)x + \gamma_n T^n x) - ((1 - \gamma_n)y + \gamma_n T^n y)\| \\ &= \|(1 - \gamma_n)(x - y) + \gamma_n(T^n x - T^n y)\| \\ &\leq (1 - \gamma_n)\|x - y\| + \gamma_n \eta(T^n)(\|x - y\| + a_n) \\ &\leq (1 - \gamma_n)\eta(T^n)\|x - y\| + \gamma_n \eta(T^n)\|x - y\| \\ &\quad + \gamma_n a_n \eta(T^n) \\ &\leq \eta(T^n)\|x - y\| + a_n \eta(T^n). \end{aligned} \tag{3.1}$$

Choosing $x = x_n$ and $y = q$, we get

$$\|z_n - q\| \leq \eta(T^n)\|x_n - q\| + a_n \eta(T^n). \tag{3.2}$$

Next consider,

$$\begin{aligned} \|A_n x - A_n y\| &= \|((1 - \beta_n)x + \beta_n T^n B_n x) - ((1 - \beta_n)y + \beta_n T^n B_n y)\| \\ &= \|(1 - \beta_n)(x - y) + \beta_n(T^n B_n x - T^n B_n y)\| \\ &\leq (1 - \beta_n)\|x - y\| + \beta_n \eta(T^n)(\|B_n x - B_n y\| + a_n) \\ &\leq (1 - \beta_n)\eta(T^n)\|x - y\| + \beta_n \eta(T^n)\|B_n x - B_n y\| \\ &\quad + \beta_n a_n \eta(T^n) \\ &\leq (1 - \beta_n)\eta(T^n)\|x - y\| + \beta_n \eta(T^n)\|B_n x - B_n y\| \\ &\quad + \beta_n a_n \eta(T^n). \end{aligned} \tag{3.3}$$

Now using (3.1) in (3.3), we get

$$\begin{aligned}
\|A_n x - A_n y\| &\leq (1 - \beta_n)\eta(T^n)\|x - y\| + \beta_n\eta(T^n)[\eta(T^n)\|x - y\| \\
&\quad + a_n\eta(T^n)] + \beta_n a_n \eta(T^n) \\
&\leq (1 - \beta_n)(\eta(T^n))^2\|x - y\| + \beta_n(\eta(T^n))^2\|x - y\| \\
&\quad + a_n\beta_n(\eta(T^n))^2 + \beta_n a_n \eta(T^n) \\
&\leq (\eta(T^n))^2\|x - y\| + a_n\eta(T^n)(1 + \eta(T^n)). \tag{3.4}
\end{aligned}$$

Choosing $x = x_n$ and $y = q$, we get

$$\|y_n - q\| \leq (\eta(T^n))^2\|x_n - q\| + a_n\eta(T^n)(1 + \eta(T^n)). \tag{3.5}$$

Finally, consider

$$\begin{aligned}
&\|W_n x - W_n y\| \\
&= \|((1 - \alpha_n)T^n x + \alpha_n T^n A_n x) - ((1 - \alpha_n)T^n y + \alpha_n T^n A_n y)\| \\
&= \|(1 - \alpha_n)(T^n x - T^n y) + \alpha_n(T^n A_n x - T^n A_n y)\| \\
&\leq (1 - \alpha_n)\eta(T^n)(\|x - y\| + a_n) + \alpha_n\eta(T^n)(\|A_n x - A_n y\| + a_n) \\
&= (1 - \alpha_n)\eta(T^n)\|x - y\| + \alpha_n\eta(T^n)\|A_n x - A_n y\| \\
&\quad + a_n\eta(T^n). \tag{3.6}
\end{aligned}$$

Now using (3.4) in (3.6), we get

$$\begin{aligned}
\|W_n x - W_n y\| &\leq (1 - \alpha_n)\eta(T^n)\|x - y\| + \alpha_n\eta(T^n)[(\eta(T^n))^2\|x - y\| \\
&\quad + a_n\eta(T^n)(1 + \eta(T^n))] + a_n\eta(T^n) \\
&\leq (1 - \alpha_n)(\eta(T^n))^3\|x - y\| + \alpha_n(\eta(T^n))^3\|x - y\| \\
&\quad + \alpha_n a_n(\eta(T^n))^2(1 + \eta(T^n)) + a_n\eta(T^n) \\
&\leq (\eta(T^n))^3\|x - y\| + a_n\eta(T^n)[1 + \eta(T^n) + (\eta(T^n))^2] \\
&\leq (\eta(T^n))^3\|x - y\| + a_n\eta(1 + \eta + \eta^2) \\
&= [1 + (\mu_n - 1)]\|x - y\| + \nu_n, \tag{3.7}
\end{aligned}$$

where $\mu_n = (\eta(T^n))^3$ and $\nu_n = a_n\eta(1 + \eta + \eta^2)$. Moreover,

$$\begin{aligned}
\sum_{n=1}^{\infty}(\mu_n - 1) &= \sum_{n=1}^{\infty} \left((\eta(T^n))^3 - 1 \right) \\
&= \sum_{n=1}^{\infty} \left((\eta(T^n))^2 + \eta(T^n) + 1 \right) (\eta(T^n) - 1) \\
&\leq (\eta^2 + \eta + 1) \sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty,
\end{aligned}$$

and $\sum_{n=1}^{\infty} \nu_n < \infty$ since by hypothesis $\sum_{n=1}^{\infty} a_n < \infty$. Choosing $x = x_n$ and $y = q$ in (3.7), we get

$$\|x_{n+1} - q\| = \|W_n x_n - q\| \leq [1 + (\mu_n - 1)] \|x_n - q\| + \nu_n. \quad (3.8)$$

Applying Lemma 2.1 in (3.8), we have $\lim_{n \rightarrow \infty} \|x_n - q\|$ exists.

Next, we shall prove that $\{x_n\}$ is a Cauchy sequence. Since $1 + x \leq e^x$ for $x \geq 0$, therefore, for any $m, n \geq 1$ and for given $q \in F(T)$, from (3.8) with taking $\mu_n - 1 = t_n$, we have

$$\begin{aligned} \|x_{n+m} - q\| &\leq (1 + t_{n+m-1}) \|x_{n+m-1} - q\| + \nu_{n+m-1} \\ &\leq e^{t_{n+m-1}} \|x_{n+m-1} - q\| + \nu_{n+m-1} \\ &\leq e^{t_{n+m-1}} [e^{t_{n+m-2}} \|x_{n+m-2} - q\| + \nu_{n+m-2}] + \nu_{n+m-1} \\ &\leq e^{(t_{n+m-1} + t_{n+m-2})} \|x_{n+m-2} - q\| \\ &\quad + e^{(t_{n+m-1} + t_{n+m-2})} [\nu_{n+m-2} + \nu_{n+m-1}] \\ &\leq \dots \\ &\leq e^{\left(\sum_{k=n}^{n+m-1} t_k\right)} \|x_n - q\| + e^{\left(\sum_{k=n}^{n+m-1} t_k\right)} \sum_{k=n}^{n+m-1} \nu_k \\ &\leq e^{\left(\sum_{n=1}^{\infty} t_k\right)} \|x_n - q\| + e^{\left(\sum_{n=1}^{\infty} t_k\right)} \sum_{k=n}^{n+m-1} \nu_k \\ &= R \|x_n - q\| + R \sum_{k=n}^{n+m-1} \nu_k \end{aligned} \quad (3.9)$$

where $R = e^{\left(\sum_{n=1}^{\infty} t_k\right)} < \infty$. Since

$$\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0, \quad \sum_{n=1}^{\infty} \nu_n < \infty \quad (3.10)$$

for any given $\varepsilon > 0$, there exists a positive integer n_1 such that

$$d(x_n, F(T)) < \frac{\varepsilon}{4(R+1)}, \quad \sum_{k=n}^{n+m-1} \nu_k < \frac{\varepsilon}{2R}, \quad \forall n \geq n_1. \quad (3.11)$$

Hence, there exists $q_1 \in F(T)$ such that

$$\|x_n - q_1\| < \frac{\varepsilon}{2(R+1)}, \quad \forall n \geq n_1. \quad (3.12)$$

Consequently, for any $n \geq n_1$ and $m \geq 1$, from (3.9), we have

$$\begin{aligned}
\|x_{n+m} - x_n\| &\leq \|x_{n+m} - q_1\| + \|x_n - q_1\| \\
&\leq R\|x_n - q_1\| + R \sum_{k=n}^{n+m-1} \nu_k + \|x_n - q_1\| \\
&= (R+1)\|x_n - q_1\| + R \sum_{k=n}^{n+m-1} \nu_k \\
&< (R+1) \frac{\varepsilon}{2(R+1)} + R \frac{\varepsilon}{2R} = \varepsilon. \tag{3.13}
\end{aligned}$$

This implies that $\{x_n\}$ is a Cauchy sequence in E and so is convergent since E is complete. Let $\lim_{n \rightarrow \infty} x_n = q^*$. Then $q^* \in C$. It remains to show that $q^* \in F(T)$. Let $\varepsilon_1 > 0$ be given. Then there exists a natural number n_2 such that $\|x_n - q^*\| < \frac{\varepsilon_1}{4}$ for all $n \geq n_2$. Since $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$, there exists a natural number $n_3 \geq n_2$ such that for all $n \geq n_3$ we have $d(x_n, F(T)) < \frac{\varepsilon_1}{5}$ and in particular we have $d(x_{n_3}, F(T)) \leq \frac{\varepsilon_1}{5}$. Therefore, there exists $w^* \in F(T)$ such that $\|x_{n_3} - w^*\| < \frac{\varepsilon_1}{4}$. For any $n \geq n_3$, we have

$$\begin{aligned}
\|Tq^* - q^*\| &\leq \|Tq^* - w^*\| + \|w^* - q^*\| \\
&\leq 2\|q^* - w^*\| \\
&\leq 2\left(\|q^* - x_{n_3}\| + \|x_{n_3} - w^*\|\right) \\
&< 2\left(\frac{\varepsilon_1}{4} + \frac{\varepsilon_1}{4}\right) \\
&< \varepsilon_1.
\end{aligned}$$

This implies that $Tq^* = q^*$ and hence $q^* \in F(T)$. This shows that q^* is a fixed point of T . Thus $\{x_n\}$ converges strongly to a fixed point of the mapping T . This completes the proof. \square

Theorem 3.2. *Let E be a real Banach space and C be a nonempty closed convex subset of E . Let $T: C \rightarrow C$ be a nearly asymptotically nonexpansive mapping with sequence $\{a_n, \eta(T^n)\}$ and $F(T) \neq \emptyset$ such that $\sum_{n=1}^{\infty} a_n < \infty$ and $\sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty$. Let $\{x_n\}$ be the three-step iteration defined by (1.3). If T satisfies the following conditions:*

- (i) $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$.
- (ii) *If the sequence $\{z_n\}$ in C satisfies $\lim_{n \rightarrow \infty} \|z_n - Tz_n\| = 0$, then $\liminf_{n \rightarrow \infty} d(z_n, F(T)) = 0$ or $\limsup_{n \rightarrow \infty} d(z_n, F(T)) = 0$.*

Then the sequence $\{x_n\}$ converges strongly to a fixed point of T .

Proof. It follows from the hypothesis that $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$. From (ii), $\liminf_{n \rightarrow \infty} d(x_n, F(T)) = 0$ or $\limsup_{n \rightarrow \infty} d(x_n, F(T)) = 0$. Therefore, the

sequence $\{x_n\}$ must converges to a fixed point of T by Theorem 3.1. This completes the proof. \square

Theorem 3.3. *Let E be a real Banach space and C be a nonempty closed convex subset of E . Let $T: C \rightarrow C$ be a nearly asymptotically nonexpansive mapping with sequence $\{a_n, \eta(T^n)\}$ and $F(T) \neq \emptyset$ such that $\sum_{n=1}^{\infty} a_n < \infty$ and $\sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty$. Let $\{x_n\}$ be the three-step iteration defined by (1.3). If T satisfies the following conditions:*

- (A₁) $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$,
- (A₂) *there exists a constant $K > 0$ such that $\|x_n - Tx_n\| \geq K d(x_n, F(T))$ for all $n \geq 1$.*

Then $\{x_n\}$ converges strongly to a fixed point of the mapping T .

Proof. From conditions (A₁) and (A₂), we have $\lim_{n \rightarrow \infty} d(x_n, F(T)) = 0$, it follows as in the proof of Theorem 3.1, that $\{x_n\}$ must converges strongly to a fixed point of the mapping T . This completes the proof. \square

Theorem 3.4. *Let E be a real Banach space and C be a nonempty closed convex subset of E . Let $T: C \rightarrow C$ be a nearly asymptotically nonexpansive mapping with sequence $\{a_n, \eta(T^n)\}$ and $F(T) \neq \emptyset$ such that $\sum_{n=1}^{\infty} a_n < \infty$ and $\sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty$. Let $\{x_n\}$ be the three-step iteration defined by (1.3). If T is semi-compact and $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$, then the sequence $\{x_n\}$ converges to a fixed point of T .*

Proof. From the hypothesis, we have $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$. Also, since T is semi-compact, there exists a subsequence $\{x_{n_j}\}$ of $\{x_n\}$ such that $x_{n_j} \rightarrow q \in C$ and we make use of the fact that every nearly asymptotically nonexpansive mapping is nearly k -Lipschitzian. Hence, we have

$$\begin{aligned} \|q - Tq\| &\leq \|q - x_{n_j}\| + \|x_{n_j} - Tx_{n_j}\| + \|Tx_{n_j} - Tq\| \\ &\leq (1 + k_1)\|q - x_{n_j}\| + \|x_{n_j} - Tx_{n_j}\| \rightarrow 0. \end{aligned}$$

Thus $q \in F(T)$. By (3.8),

$$\|x_{n+1} - q\| \leq [1 + (\mu_n - 1)]\|x_n - q\| + \nu_n.$$

Since $\sum_{n=1}^{\infty} (\mu_n - 1) < \infty$ and $\sum_{n=1}^{\infty} \nu_n < \infty$, by Lemma 2.1, $\lim_{n \rightarrow \infty} \|x_n - q\|$ exists and $x_{n_j} \rightarrow q \in F(T)$ gives that $x_n \rightarrow q \in F(T)$. This shows that $\{x_n\}$ converges to a fixed point of T . This completes the proof. \square

Theorem 3.5. *Let E be a real Banach space satisfying Opial's condition and C be a nonempty closed convex subset of E . Let $T: C \rightarrow C$ be a nearly asymptotically nonexpansive mapping with sequence $\{a_n, \eta(T^n)\}$ and $F(T) \neq \emptyset$*

such that $\sum_{n=1}^{\infty} a_n < \infty$ and $\sum_{n=1}^{\infty} (\eta(T^n) - 1) < \infty$. Let $\{x_n\}$ be the three-step iteration defined by (1.3). Suppose that T has a fixed point, $I - T$ is demiclosed at zero and $\{x_n\}$ is an approximating fixed point sequence for T , that is, $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$. Then $\{x_n\}$ converges weakly to a fixed point of T .

Proof. Let p be a fixed point of T . Then $\lim_{n \rightarrow \infty} \|x_n - p\|$ exists as proved in Theorem 3.1. We prove that $\{x_n\}$ has a unique weak subsequential limit in $F(T)$. For, let u and v be weak limits of the subsequences $\{x_{n_i}\}$ and $\{x_{n_j}\}$ of $\{x_n\}$, respectively. By hypothesis of the theorem, we know that $\lim_{n \rightarrow \infty} \|x_n - Tx_n\| = 0$ and $I - T$ is demiclosed at zero, therefore we obtain $Tu = u$. Thus $u \in F(T)$. Again in the same fashion, we can prove that $v \in F(T)$. Next, we prove the uniqueness. To this end, if u and v are distinct then by Opial's condition,

$$\begin{aligned} \lim_{n \rightarrow \infty} \|x_n - u\| &= \lim_{n_i \rightarrow \infty} \|x_{n_i} - u\| \\ &< \lim_{n_i \rightarrow \infty} \|x_{n_i} - v\| = \lim_{n \rightarrow \infty} \|x_n - v\| = \lim_{n_j \rightarrow \infty} \|x_{n_j} - v\| \\ &< \lim_{n_j \rightarrow \infty} \|x_{n_j} - u\| = \lim_{n \rightarrow \infty} \|x_n - u\|. \end{aligned}$$

This is a contradiction. Hence $u = v \in F(T)$. Thus $\{x_n\}$ converges weakly to a fixed point of T . This completes the proof. \square

Remark 3.6. Our results extend and generalize the corresponding results of [10]-[15] and many others from the existing literature to the case of three-step iteration scheme and more general class of nonexpansive and asymptotically nonexpansive mappings considered in this paper.

REFERENCES

- [1] R.P. Agarwal, Donal ÓRegan and D.R. Sahu, *Iterative construction of fixed points of nearly asymptotically nonexpansive mappings*, *Nonlinear Convex Anal.*, **8**(1) (2007), 61–79.
- [2] C.E. Chidume and B. Ali, *Weak and strong convergence theorems for finite families of asymptotically nonexpansive mappings in Banach spaces*, *J. Math. Anal. Appl.*, **330** (2007), 377–387.
- [3] R. Glowinski and P. Le Tallec, *Augmented Lagrangian and Operator-Splitting Methods in Nonlinear Mechanics* Siam, Philadelphia, (1989).
- [4] K. Goebel and W.A. Kirk, *A fixed point theorem for asymptotically nonexpansive mappings*, *Proc. Amer. Math. Soc.*, **35**(1) (1972), 171–174.
- [5] S. Haubruge, V.H. Nguyen and J.J. Strodiot, *Convergence analysis and applications of the Glowinski Le Tallec splitting method for finding a zero of the sum of two maximal monotone operators*, *J. Optim. Theory Appl.*, **97** (1998), 645–673.

- [6] S.H. Khan, Y.J. Cho and M. Abbas, *Convergence to common fixed points by a modified iteration process*, J. Appl. Math. Comput., doi:10.1007/s12190-010-0381-z.
- [7] M.A. Noor, *New approximation schemes for general variational inequalities*, J. Math. Anal. Appl., **251** (2000), 217–229.
- [8] M.A. Noor, *Three-step iterative algorithms for multivalued quasi variational inclusions*, J. Math. Anal. Appl., **255** (2001), 589–604.
- [9] Z. Opial, *Weak convergence of the sequence of successive approximations for nonexpansive mappings*, Bull. Amer. Math. Soc., **73** (1967), 591–597.
- [10] M.O. Osilike and S.C. Aniagbosor, *Weak and strong convergence theorems for fixed points of asymptotically nonexpansive mappings*, Math. Comput. Model., **32** (2000), 1181–1191.
- [11] B.E. Rhoades, *Fixed point iteration for certain nonlinear mappings*, J. Math. Anal. Appl., **183** (1994), 118–120.
- [12] J. Schu, *Weak and strong convergence to fixed points of asymptotically nonexpansive mappings*, Bull. Austral. Math. Soc., **43**(1) (1991), 153–159.
- [13] J. Schu, *Iterative construction of fixed points of asymptotically nonexpansive mappings*, J. Math. Anal. Appl., **158** (1991), 407–413.
- [14] K.K. Tan and H.K. Xu, *Approximating fixed points of nonexpansive mappings by the Ishikawa iteration process*, J. Math. Anal. Appl., **178** (1993), 301–308.
- [15] B.L. Xu and M.A. Noor, *Fixed point iterations for asymptotically nonexpansive mappings in Banach spaces*, J. Math. Anal. Appl., **267**(2) (2002), 444–453.